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Semplifica le seguenti espressioni: 

1.  �2 � √3��7 	 4√3 � �1 	 √2��3 � 2√2  

� �2 � √3���2 	 √3�
 � �1 	 √2���1 � √2�
 � 

� �2 � √3��2 	 √3� � �1 	 √2��1 � √2� � 4 	 3 � 1 	 2 � � 

2.  √72 � ���2√2 	 4��� 	 ��1 	 √2��� �
 	 �2√3 � 3��2√3 	 3�  

� 6√2 � �4 	 2√2 	 1 � √2�
 	 �12 	 9� � 

� 6√2 � �3 	 √2�
 	 3 � 6√2 � 9 � 2 	 6√2 	 3 � � 

3.  ��4 � √12 	 √12� �√3 	 1� � �1 	 √3�

  

� ��4 � 2√3 	 2√3� �√3 	 1� � �1 	 √3�
 � ���1 � √3�
 	 2√3� �√3 	 1� � �1 	 √3�
 � 

� �1 � √3 	 2√3��√3 	 1� � �1 	 √3�
 � 	�1 	 √3�
 � �1 	 √3�
 � � 

4.  �√323 ∙ √23 � √	563 ∶  √73 � √3!�2 	 √3�  

� �√64" 	 √8" � √3��2 	 √3� � �4 	 2 � √3��2 	 √3� � �2 � √3��2 	 √3� � 4 	 3 � $ 

Determina il dominio delle seguenti funzioni: 

5.  % � &|( � 1| 	 5 � √( 	 72   

) |( � 1| 	 5 * 0( 	 7 * 0                          ) ( � 1 , 	5   ∨    ( � 1 * 5( * 7                                                        ) ( , 	6   ∨    ( * 4( * 7                                        . * / 

6.  % � 0 1( 	 1 	 1( 	 2 � 0 2 	 (1 � ( � (
  

1 1( 	 1 	 1( 	 2 * 02 	 (1 � ( � (
 * 0                 2 ( 	 2 	 ( � 1�( 	 1��( 	 2� * 02 	 ( * 0                             2 	1�( 	 1��( 	 2� * 0	( * 	2                              ) �( 	 1��( 	 2� 3 0( , 2                          
45 6 0:  ( 6 1  445 6 0:  ( 6 2                                                                           ) 1 3 ( 3 2( , 2                                                                         $ 3 . 3 8 
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7.  9 (√5 � %√6 � 28    √52 ( � 2√63 % � 17  

	 : 3(√5 � 3%√6 � 84  3(√5 � 4%√6 � 102	%√6 � 	18      ⇒       % � 18√6 ∙ √6√6 � 3√6       : (√5 � 18 � 28% � 3√6                   ⇒       1 ( � 10√5 ∙ √5√5% � 3√6                 : . � 8√<= � >√? 

8.  : (√7 � %√10 � 0   ( � % � √7 	 √10  

⎩⎪⎨
⎪⎧ ( � 	% √10√7                         

	 %√10√7 � % � √7 	 √10      1 ( � 	% √10√7                                       
	%√10 � %√7 � √7�√7 	 √10�      1 ( � 	% √10√7                                     

%�√7 	 √10� � √7�√7 	 √10�       : . � 	√$� = � √/        

9.  
( 	 √6√3 	 1 	 ( 	 √2√3 � √2 � 0 

√3�( 	 √6� 	 �( 	 √2��√3 	 1� � √6�√3 	 1�√3�√3 	 1� � 0     (√3 	 3√2 	 (√3 � ( � √6 	 √2 � 3√2 	 √6 � 0     . � √8 

10.  
( � √3( 	 √3 	 ( 	 √3( � √3 � 123 	 (
 

( � √3( 	 √3 	 ( 	 √3( � √3 � 	 12�( 	 √3��( � √3�        �( � √3�
 	 �( 	 √3�
 � 12�( 	 √3��( � √3� � 0                        D. F. : ( G H√3 

(
 � 2(√3 � 3 	 (
 � 2(√3 	 3 � 12 � 0                4(√3 � 	12                ( � 	 I√I � 	√3        JKJ LMM.        ∄. ∈ ℝ  

11.  √2 � 1( , 0 

(√2 � 1( , 0                  Q * 0 ( * 	 √22R 6 0 ( 6 0                                                                                             	 √88 , . 3 �  

12.  9 2( � √89( � √18 * 0
9( � √27 3 0 

9 2( � 2√29( � 3√2 * 0
9( � 3√3 3 0                    

⎩⎪⎨
⎪⎧ ( � √23( � √2 * 0

( 3 	 √33                    
( � √23( � √2 * 0                  Q * 0: ( * 	√2R 6 0: ( 6 	 √23                                                                              ( , 	√2    ∨     ( 6 	 √23  

⎩⎪⎨
⎪⎧ ( , 	√2    ∨     ( 6 	 √23( 3 	 √33                                                                                                                     . , 	√8 


